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Categorise each of the following items as either [n:r:nnf; (I}, Expense (E). Asset {A),
Liability (L), or Capital (), (3 marks)
() Accounts payable (iv) Drawings

(i)  Rent received (v)  Building 4

(i) Cash (vi) Fees received
Distinguish between informed search and wninformed seareh as used m artificial

mtelligence {4 marks)

Sketeh the output that would he gencrated when the following sequence of commands
m 8 Computer Aided Design program are executed. (4 marks)

-muliple _pline
0,0. H
50,0
50,50
BO B0
0,80. P
oo

Explain two ways in which Ureographic Information Svstems (GIS) could be used in the
execution of rescue missions, (4 marks)

Explain the application of artificjal inteloli\gﬁnue in each of the tollowing areas:

(1) cmail filters; Q}.C’
(i)  search engines: §
(i} e-commerce website, ¢ (6 marks)

The following information relates 1o Tomina Traders stock records for the year 2021,
Use it 1o answer the question that follows,

Stock as at: 01/01/207] Ksh 3,323 500 -~
Purchases Ksh 25,027,000
Returns outwards Ksh 1,246,000
Carriage inwards Ksh 57,000
Carriage outwards Ksh 338,000
General distribution expenses  Ksh 284,000 -
Stock as at 31/12/2021 Ksh 4.589 000,
Determine the cost of sales for the year for Tomina Traders, {5 marks)

State one circumstance necessitating enabling of cach of the following features in a
CAD program.

(1} object snap;

{if)  dynamiec input. (4 marks)
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Explain the fanction of cach of the following objects in a GIS:
(i) epordinate data objectss

(i)  wvector objects. {4 marks)

Outline the finction of each of the following financial statements:

(i)  balance sheet;

(i) profit and boss account;

(iiiy  cash flow statement. (3 marks)

F

Explain a reason for switching between model space window and paper space window

while designing in a CAD progranm. [' {4 matks)
£

State the relationship between maching IEh?'r‘ang and artificial [e:ﬂeﬂx!g?m:e. (4 marks)

Explain cach of the following types of Artificial Intelligence (Al) used in computers:

(1) reactive machines Al;

(it}  limited memory Al;

(i}  self-aware Al (6 marks)

Dhifferentiate between first in first g{ﬁfﬁll’*‘ﬁ} and fast in first ozt (LIFO) stock valuation
‘:7 * L g

methods, = 2 {4 marks)

With the aid of an i]kustrati@ff.-‘?nleach case, describe the following types of dimensions
used m CAD design:

(i) radial;

(i}  arc length. {5 marks)
State two difference between human Intelligence and mr}'j&*#m’ r'me.i'f.f_gem:'&.’ (4 marks)
Explain the term imtelligent agent as used in Artificial Intelligence, ~ {2 marks)

State four advantages of using vector data in Geographic Information System. L
(4 marks)

Dalili Ltd acquired a new mainframe computer system for Ksh 600,000 on | November
2(119. The computer’s estimated usefal life is five vears, at the end of which it is
expected to have a serap value of Ksh 54,50

If the company™s financial year ends un‘_jt_l_lg{nmh,hund straight-line depreciation is
applied on @ monthly basis, what is the depreciation charge on the computer in the
profit and loss account for the year -:nl:[ill_g 31 March 20217 (5 marks)
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Outline three basic functions of a Geographic Information System (GIS). ~ (3 marks)

A designer opted to use the block feature ina CAD program while creating a design.
Chrtling two reasons for this preference: (2 marks)
Skyweh GIS Company has been advised to hire the following eategories of employees:
(1) cartographers:

(iiy  GIS Programmer; |

{(ili}  remoie sensing specialists. .-

Explain the services that each of the above employees could provide to the company.

(6 marks)
Explain each of the following accounting terms:
(i provision for depreciation;
(i)  historical cost accounting basis, {4 marks)
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